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Ql]. .. [10 points] Compute the derivatives of the following functions. Show all your work, writing down

the names of key differentiation rules you are using. You do not have to spend time simplifying the
expressions in your answers.
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Q2]...[10 points] Find % for each of the following functions. Remember to show the details of your
work.
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Q3]... [10 points] Find the following limits. Show all your work, carefully stating any important limits
from class that you may be using. You can not use theorems (eg. L’Hépital’s Rule) that we have not yet

seen in class!
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. Q4]...[10 points] Write down the limit of a difference quotient definition of the derivative of a. function
f(z). -
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State the product rule for differentiation (formula only is enough).
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Give a proof of the product rule.
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Q5]. .. [10 points] Find the derivative 3 of the implicitly defined curve.
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Find the equation of the straight lines which pass through the point (0,1) and are tangent to the curve
y? = 2 4 z? above. How many such tangent lines are there?
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